

Final GCE A2 Reserve Examinations Timetable June 2022

- 1. In light of the policy of unit omission and to ensure as many students as possible have the opportunity to complete at least 25% of their qualification, a Reserve GCE A2 examination series is timetabled.
- 2. This Reserve series will provide examinations for all A2 mandated units.
- 3. Where a candidate clash occurs between the main summer timetable and the reserve summer timetable, the normal JCQ instructions on timetable variations apply.
- 4. Where possible a gap of 8-10 days have been allowed between the examinations in the main summer 2022 timetable and the reserve summer 2022 timetable.
- 5. The normal start time for morning sessions is 9.15am
- 6. The normal start time for afternoon sessions is 1.30pm
- 7. The Issue of Results date for the GCE A2 Reserve examination series is still to be confirmed
- 8. CCEA recognise that the provision of a Reserve series is unprecedented in Northern Ireland. However, the aim is to make sure that as many young people as possible are enabled to complete their qualifications in a manner that is fair and equitable to all students.



Final GCE A2 Reserve Examinations Timetable

WEEK BEGINNING 20 June 2022

Unit	Subject	Time	Date	Unit	Subject	Time
Code				Code		
ABU11 AAL21	Business Studies A2 Unit 1 (2hrs) Sport Science A2 Unit 2 (2hrs)	9.15 - 11.15 9.15 - 11.15	Monday 20 June	ADV11 AGG11	Software Systems Development A2 Unit 1 (2hrs) Geography A2 Unit 1 (1hr 30m)	1.30 - 3.30 1.30 - 3.00
ABY11 AJR11 ATE11	Biology A2 Unit 1 (2hrs 15m) Journalism A2 Unit 1 (2hrs) Technology and Design A2 Unit 1 (2hrs)	9.15 - 11.30 9.15 - 11.15 9.15 - 11.15	Tuesday 21 June	AGM21 AGM22 ARE11	German A2 Unit 2 Section A (45m) German A2 Unit 2 Section B (2hrs) Religious Studies A2 Unit 1 (2hrs)	1.30 - 2.15 2.30 - 4.30 1.30 - 3.30
ACH14 AEC11 ARE21	Chemistry A2 Unit 1 (2hrs) Economics A2 Unit 1 (2hrs) Religious Studies A2 Unit 2 (2hrs)	9.15 - 11.15 9.15 - 11.15 9.15 - 11.15	Wednesday 22 June	AEP21 AEP22 AHC31	Spanish A2 Unit 2 Section A (45m) Spanish A2 Unit 2 Section B (2hrs) Health and Social Care A2 Unit 3 (2hrs)	1.30 - 2.15 2.30 - 4.30 1.30 - 3.30
ADT11 AHY21 AZ021	Digital Technology A2 Unit 1 (2hrs 30m) History A2 Unit 2 (2hrs 30m) Life and Health Sciences A2 Unit 2 (1hr 45m)	9.15 - 11.45 9.15 - 11.45 9.15 - 11.00	Thursday 23 June	AIR21 AIR22 AMU31	Irish A2 Unit 2 Section A (45m) Irish A2 Unit 2 Section B (2hrs) Music A2 Unit 3 (1hr 15m)	1.30 - 2.15 2.30 - 4.30 1.30 - 2.45
AET11 ARE31	Environmental Technology A2 Unit 1 (2hrs) Religious Studies A2 Unit 3 (2hrs)	9.15 - 11.15 9.15 - 11.15	Friday 24 June	AFR21 AFR22 APH11	French A2 Unit 2 Section A (45m) French A2 Unit 2 Section B (2hrs) Physics A2 Unit 1 (2hrs)	1.30 - 2.15 2.30 - 4.30 1.30 - 3.30



Final GCE A2 Reserve Examinations Timetable

WEEK BEGINNING 27 June 2022

Unit	Subject	Time	Date	Unit	Subject	Time
Code				Code		
AMT11	Mathematics A2 Unit 1 (2hrs 30m)	9.15 - 11.45	Monday	AEP31	Spanish A2 Unit 3 (1hr)	1.30 - 2.30
ANF11	Nutrition & Food Science A2 Unit 1 (2hrs 30m)	9.15 - 11.45	27 June	AGG21	Geography A2 Unit 2 (1hr 30m)	1.30 - 3.00
ABY21	Biology A2 Unit 2 (2hrs 15m)	9.15 - 11.30	Tuesday	AEL11	English Literature A2 Unit 1 (2hrs)	1.30 - 3.30
AGP11	Government and Politics A2 Unit 1 (2hrs 15m)	9.15 - 11:30	28 June	APB11	Professional Business Services A2 Unit 1 (2hrs)	1.30 - 3.30
AMX21	Moving Image Arts A2 Unit 2 (2hrs 30m)	9.15 - 11.45				
APH21	Physics A2 Unit 2 (2 hrs)	9.15 - 11.15	Wednesday	AIR31	Irish A2 Unit 3 (1hr)	1.30 - 2.30
ARE41	Religious Studies A2 Unit 4 (2hrs)	9.15 - 11.15	29 June	AFM11	Further Mathematics A2 Unit 1 (2hrs 15m)	1.30 - 3.45
ACH24	Chemistry A2 Unit 2 (2hrs)	9.15 - 11.15	Thursday	AGM31	German A2 Unit 3 (1hr)	1.30 - 2.30
ARE51	Religious Studies A2 Unit 5 (2hrs)	9.15 - 11.15	30 June	AHC61	Health and Social Care A2 Unit 6 (2hrs)	1.30 - 3.30
AZ031	Life and Health Sciences A2 Unit 3 (1hr 45m)	9.15 - 11.00		AHC71	Health and Social Care A2 Unit 7 (2hrs)	1.30 - 3.30
				ARE61	Religious Studies A2 Unit 6 (2hrs)	1.30 - 3.30
ARE71	Religious Studies A2 Unit 7 (2hrs)	9.15 - 11.15	Friday	AMU32	Music A2 Unit 3 (2hrs)	1.30 - 3.30
AFR31	French A2 Unit 3 (1hr)	9.15 - 10.15	01 July	AZ051	Life and Health Sciences A2 Unit 5 (1hr 45m)	1.30 - 3.15
AZ041	Life and Health Sciences A2 Unit 4 (1hr 45m)	9.15 - 11.00				



Final GCE A2 Reserve Examinations Timetable

WEEK BEGINNING 04 July 2022

Unit Code	Subject	Time	Date	Unit Code	Subject	Time
			Monday 04 July			
ARE81	Religious Studies A2 Unit 8 (2hrs)	9.15 - 11.15	Tuesday 05 July			
			Wednesday 06 July			
			Thursday 07 July			
			Friday 08 July			